AB Calculus Ch. 2 Test Review

1. The average rate of change of f(x)=4x—x> on the interval [1,3] is
a.) -2 b.) -1 c.) 0 d.) 1 e) 2

2. The instantaneous rate of change of f(x) at the endpoints are :

3. Find f;); for y = (x2+1).
a) — b by ) R gy P ey L
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4. If the line tangent to the graph of the function f at the point (1,7) passes through the point (-2,-2),
then f '(1) =
a.) -5 b.) 1 c.) 3 d.) 7 e.) undefined

5. Find a and b such that .
ax® x<3

f(x)= x> +b x >3 is differentiable everywhere.




6. A particle moves along a straight line according to the given equation: s(7) = %f -2t -1,1t20.

a) Find when the particle is moving to the left. b.) Find when the velocity is increasing.

c.) Find when the speed is decreasing. d.) Where is the particle located when the
velocity is zero?

e) Find particle’s displacement fromt =0tot = 3 | f) Find particle’s distance fromt =0tot = 3

g)Is the velocity increasing or decreasing at t=2? | h) Find the velocity and position when
acceleration is zero.

2(-1+h)3-3(-1+h)— 1
h

7. Find limy,_,,

8. If f(x)=x"—4x ,evaluate lim M
x=>-1 x+1
‘a.) -8 b.) 0 c.) 1 d.) 2 e) 4

9. Find the points at which the graph of the equation has a vertical or horizontal tangent line:

A +y* —8x+4y +4=0
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6. A particle moves along a straight line according to the given equation: s(¢) = %ts —2t*-1,t20.
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e) Find particle’s displacement fromt = 0to t = 3 | f) Find particle’s distance fromt £ O to t = 3
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) the velocity increasing or decreasing at t=2? | h) Find the velocity and position when
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9. Find the points at which the graph of the equatlon has a vertical or horlzont@tange_rlt line:
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